Responding to 2NT uses a schedule
similar to the one recently laid out for
responding to IN'T. The big difference,
of course, is that opener will now have
20-21 HCP instead of 15-17. Respond-
er still can use Stayman and Jacoby
transfers.

Pass
0-4 HCP and no five-card or longer
major. Pass 2NT with:

AK762 99853 442 &543
or
A87 932 €J10765 #JB6S.

3¢k Stayman

This is Stayman, asking opener for
afour-card major. How many points
do you need for Stayman? Generally,
enough for game, so about a decent 5
HCP or more. You could have a weaker
hand if you are willing to pass any an-
swer to 3¢fe. This would usually mean
short clubs, something like:

AJ432 V10876 €J6542 ¢b—.

With 5-4 in the majors, use Stayman
(not a transfer).

Transfers

3 ® isatransfer to hearts,and 3%
is a transfer to spades. (When such
aresponse is made, the 2NT opener
Announces out loud “transfer.”) After
the opener accepts the transfer, the
responder can pass or bid game (in
notrump or in his major). He can also
bid a new suit (game forcing). More
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details on the follow-ups will appear in
future articles. Transfer to the major
with:

AJ10765 ¥2 9865 &742
(and then pass), or with:
A8G6 WKJ732 Q653 98

(and then bid 3NT to offer opener a
choice between SNT and 4 V).

Other responses

Irecommend not using 3 (al-
though if your partnership wants to
define it as both minors, good luck
waiting for a chance to use it — and bet-
ter luck remembering).

A raise to 3NT, is of course a signoff.
Raise to 3NT with:

AK72 ¥Q32 Q8765 &J2
or
AL2 W75 €852 HAQI9654.

4 ¢ would ask for aces (Gerber) and
is one of the most-abused responses in
bridge. (It is extremely rare that knowl-
edge of how many aces opener has will
be useful.)

For now, don’t use a response of 4 ¢
or 4 ¥ (unless both you and your part-
ner are 100% sure you know about and
will remember Texas transfers).

Definitely don’t respond 4 & to 2NT.

A 4ANT response is “quantitative”
which is a fancy way of saying “invita-
tional” to slam. It is not ace-asking. It
invites partner to goto 6NT ifhe hasa
maximum.

Newer Players

What is your response to 2NT with
each hand below?

1. AQ765 ¥10765 €54 832
2.8KJ76 92 K765 #8765
3.AQ1087 ¥J765 107654 ¢e—
4. AKJ873 ¥Q76 €5 &HJ432
5.8MKJ4 ¥Q2 €32 Q76543
6. MA7 WAS5 9108765 #6432
7.8QJ10762 YA 48654 32
8. AK2 WAJ9 €J1053 Q942

Answers
1. Pass. Not enough for Stayman.

2. 3eb. Planningtoraise SMd to4 M,
otherwise to bid 3NT.

3. 3ék.Planningtoraise 3¥ or 3S, but
topass3 9.

3¥.Planningto bid 3NT next, al-
lowing partner to correct to 4 & if
he wishes.

3NT. No need to show clubs.

6. 3NT. Even ifyou have a way to
show minors, where are you going?

=~

7. 39.Planning to place the contract
in 4 & next. (If you are 100% sure
you and your partner play Texas
transfers, you can respond 4 ¥
directly instead.)

8. 4NT. Quantitative, which means
inviting slam in notrump. [ |
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